	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
	(St.James Church School)			
	Entrance Exam Result Held On 10/02/2024			
		Class - L.K.G.		
S. No.	. No. STUDANT'SNAME FATHER'S NAME MOTHER'S NAME			
1	Aditya Tyagi	Mr. Anil Tyagi	Ms. Manju Tyagi	
2	Ahaan Singh	Mr. Atual Singh	Ms. Rinku Kumari	
3	Arish Siddiqe	Mr. Shekh Suffian Siddiqe	Ms. Gazala Imam	
4	Dhruvi Sharma	Mr. Virender Sharma	Ms. Pooja Sharma	
5	Ishrat Ali	Mr. Unis Ali	Ms. Kesar Ali	
6	Kiyan	Mr. Jaideep Singh	Ms. Soniya	
7	Rounak Tiwari	Mr. Officer Tiwari	Ms. Pooja Tiwari	
8	Suhana	Mr. Unis Ali	Ms. Kesar Ali	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm

FEE

Admission Fee - 200

Composite Fee - 4450 X 3= 13350

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
	(St.James Church School)			
	Entrance Ex	am Result Held On 10/02	/2024	
		Class - U.K.G.		
S. No.	STUDANT'SNAME	FATHER'S NAME	MOTHER'S NAME	
1	Nancy Kumari	Mr. Navin Kumar	Ms. Nipu Devi	
2	Shivay Singh	Mr. Jitendera Singh	Ms. Aarti Devi	
3	Vivan Sharma	Mr. Kuldeep Sharma	Ms. Soniya Sharma	
4	Naina Aalam	Mr. Rizwan Aalam	Ms. Manju Mohhary	
5	Prisha	Mr. Shankar	Ms. Ruby	
6	Ankush Kumar	Mr. Babu Saheb Tiwari	Ms. Nisu Tiwari	
7	Aarnav	Mr. Shambhu Kumar	Ms. Nivedita Kumari	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm

FEE

Admission Fee - 200
Composite Fee - 4450 X 3= 13350

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
	Entrance Exam Result Held On 10/02/2024			
	Class - I			
S. No.	STUDANT'SNAME	FATHER'S NAME	MOTHER'S NAME	
1	Rishabh	Mr.Chandeshwer Kumar	Ms. Laxmi	
2	Sushant Singh	Mr.Rajballam Singh	Ms.Moni Kumari	
3	Amber Gautam	Mr. Chanderkant Bharti	Ms.Sail Kumari	
4	Yogit	Mr. Jitender Kumar	Ms. Radha	
5	Satyajeet Dash	Mr.Sadasiv Dash	Ms.Swarnalata Dash	
6	Shanvi Jha	Mr. Rakesh Kr. Jha	Ms. Khushboo Kumari	
7	Ishant Tamuli	Mr.Vikram Tamoli	Ms. Reena	
8	Dev Thakur	Mr. Vivek Thakur	Ms.Rinki Kumari	
9	Vedansh	Mr. Lakshman Kumar Jha	Ms. Bindi Jha	
10	Aditya Kumar	Mr. Pradeep Kumar	Ms. Manju	
11	Harshvardhan singhRajput	Mr. Gajender Singh Rajput	Ms. Deepika	
12	Nitara	Mr. Aalok Singh	Ms. Akansha	
13	Avik	Mr.Manoj Sharma	Ms. Pooja Sharma	
14	Abhiraj Kr. Yadav	Mr. Rajeev Kumar	Ms. Meena Kumari Devi	
15	Kavya Gupta	Mr. Ranjeet Gupta	Ms. Neetu Gupta	
16	Tanishk	Mr. Mukesh	Ms. Tara	
17	Manish Singh	Mr. Mantu Singh	Ms. Priyanka Devi	
18	Amrit Kar	Mr. Ajaya Prasad Kar	Ms. Promodni Kar	
19	Arham Azam	Mr. Jeshan Azam	Ms. Nazmin	
20	Ibrahim Mushir	Mr. Mushir Uddin	Ms. Sonu Mushir	
21	Jatin	Mr. Dharmender Singh	Ms. Reenu	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm
FEE

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
	Entrance Exam Result Held On 10/02/2024			
		Class - II		
S.No.	STUDANT'SNAME	FATHER'S NAME	MOTHER'S NAME	
1	Aviranjan	Mr. Virender Kumar	Ms. Asha Kumari	
2	Priya	Mr. Zile Singh	Ms.Saroj	
3	Pragya Choudhary	Mr. Narendra	Ms. Rakhi Devi	
4	Pranshu Srivastav	Mr. Nikhil Srivastav	Ms. Sarojni Srivastav	
5	Arnav Bera	Mr. Taposh Bera	Ms. Pinki Haldar	
6	Harshit Singh	Mr. Dungar Singh	Ms. Ganga Devi	
7	Lucky	Mr. Khushi Ram	Ms. Pooja Rani	
8	Mihit Anand	Mr. Ramesh Kumar	Ms. Minakshi Kumari	
9	Akansha Tigga	Mr. Fedlis Tigga	Ms. Prishea Tigga	
10	Himanshu Kr. Pandit	Mr. Sunil Kr. Pandit	Ms. Sangeeta	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm
FEE

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
	Entrance Exam Result Held On 10/02/2024			
		Class - III		
S. No.	STUDANT'SNAME	FATHER'S NAME	MOTHER'S NAME	
1	Ayushman Jha	Mr. Kamalesh Kr. Jha	Ms. Premlata Jha	
2	Priyanshi	Mr.Lavkesh Kumar	Ms.SarveshDevi	
3	Kumari Prachi	Mr. Dashrath Singh	Ms. Kamla Devi	
4	Youvraj Khatana	Mr. Parvesh	Ms. Rekha	
5	Varun Baghel	Mr. Ravi Baghel	Ms. Kumari Laltesh	
6	Anjali Singh	Mr. Bablu Kumar Singh	Ms. Sonam	
7	Hargun	Mr.Manoj Sharma	Ms. Pooja Sharma	
8	Satyam Kumar	Mr. Vijay Kumar	Ms. Sanjita Kumari	
9	Gaurav Prasad	Mr. Anil Prasad	Ms. Priyanka	

Admission to be done on 17, 19 & 20 February 2024 Timings: 8.30 am to 1.00 pm

FEE

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
	Entrance Exam Result Held On 10/02/2024			
	Class - IV			
S. No.	S. No. STUDANT'SNAME FATHER'S NAME MOTHER'S NAME			
1	Malank Raj	Mr. Prashant singh	Ms. Rajni Singh	
2	Khushbu	Mr.Jitender	Ms. Radha	
3	Adarsh	Mr. Ajit Kumar Singh	Ms. Bebi Devi	
4	Deepti	Mr. Jagvir Singh	Ms. Devesh	
5	Bhavyam	Mr. Sanoj Kr. Rahi	Ms. Sunita Rahi	
6	Yashika Kumari	Mr. Sanjay Kumar	Ms. Chanchu	
7	Ginisha Khatana	Mr. Dinesh Kumar	Ms. Rakhi	
8	Deveshi Singh	Mr. Nagendu Singh	Ms. Meena	
9	Rishi Rathore	Mr. Golden	Ms. Ruvi Rathor	
10	Radhika	Mr. Amardeep	Ms. Veena	
11	Himanshi	Mr. Dharmender Singh	Ms. Reenu	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm

FEE

Admission Fee - 200

Composite Fee - 4700 X 3= 14100

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
Entrance Exam Result Held On 10/02/2024				
		Class - V		
S. No.	STUDANT'SNAME	FATHER'S NAME	MOTHER'S NAME	
1	Yash Kr. Singh	Mr. Alok Kr. Singh	Ms. Nibha	
2	Shaurya Atri	Mr. Devender Kumar	Ms. Shashi devi	
3	Piyush Bist	Mr. Har Singh	Ms. Anita devi	
4	Shivam Kumar	Mr. Vijay Kumar	Ms. Sanjita Kumari	
5	Mihir Anand	Mr. Ramesh Kumar	Ms. Minakshi Kumari	
6	Gourav Singh	Mr. Rajbeer Singh	Ms. Nisha	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm
FEE

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
	Entrance Exam Result Held On 10/02/2024			
		Class - VI		
S. No.	STUDANT'SNAME	FATHER'S NAME	MOTHER'S NAME	
1	Achal Gautam	Mr.Chanderkant Bharti	Ms. Sail Kumari	
2	Sanskriti Kumari	Mr. Kamalesh Kr. Jha	Ms. Premlata Jha	
3	Divyanshi	Mr.Jitender Kumar	Ms. Radha	
4	Abha	Mr. Ajit Kumar Singh	Ms. Bebi Devi	
5	Leena Rahi	Mr. Sanoj Kumar Rahi	Ms. Sunita Rahi	
6	Pranav Srivastav	Mr. Nikhil Srivastav	Ms. Sarojani Srivastav	
7	Evangel Jis	Mr. Jis Pious	Ms. Loraine Jis	
8	Aradhya Pal	Mr. Paramananda	Ms. Archna	
9	Shikha Kumari	Mr. Sunil Kumar Mehto	Ms. Suman Devi	
10	Sonam Sinha	Mr. Deepak Kumar	Ms. Sujata Sinha	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm

FEE

Admission Fee - 200

Composite Fee - 5180 X 3= 15540

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
	Entrance Exam Result Held On 10/02/2024			
		Class - VII		
S. No.	STUDANT'SNAME	FATHER'S NAME	MOTHER'S NAME	
1	Satakshi Singh	Mr. Prashant Singh	Ms.Rajni Singh	
2	Siddhi Negi	Mr. Chandan Singh Negi	Ms. Neema Negi	
3	Nikita Gautam	Mr.Anoop Kumar Gautam	Ms. Gunjan Gautam	
4	Gaurav Bist	Mr. Har Singh	Ms. Anita devi	
5	Jigyansha	Mr. Dungar Singh	Ms. Ganga Devi	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm
FEE
Admission Fee - 200
Composite Fee - 5180 X 3= 15540

	St. Michael's Sr. Sec. School, Vatika Kunj, Nayagaon			
Entrance Exam Result Held On 10/02/2024				
	Class - VIII			
S. No.	STUDANT'SNAME	FATHER'S NAME	MOTHER'S NAME	
1	Abha Kumari	Mr.Santosh ku sahu	Ms. Chandni Devi	
2	Heena	Mr.Amardee	Ms.Veena	
3	Sonalika Sharma	Mr. Pawan sharma	Ms. Poonam sharma	
4	Yash	Mr. Khushi Ram	Ms. Pooja Rani	

Admission to be done on 17, 19 & 20 February 2024
Timings: 8.30 am to 1.00 pm
FEE
Admission Fee - 200
Composite Fee - 5180 X 3= 15540